2019秋专升本公共英语模拟卷
选择题（50题 共150分）
1、Since he was involved in the case, the court _______ his appearance.

A、requested     B、asked     C、required     D、solicited

2、None of the servants were _______ when Mr. Smith wanted to send a message.

A、available     B、approachable     C、attainable     D、applicable

3、I can't afford a new car, so I'm looking for a good _______ one.

A、timely     B、original     C、used     D、ancient

4、Listening to music and sports news ________ what I enjoy most.

A、are     B、is     C、become     D、have been

5、I asked my neighbor to _______ my garden when I was away.

A、look after     B、look over     C、look in     D、look to

6、The doctor tried to ______ the patient with a new drug.

A、recover     B、heal     C、treat     D、handle

7、_______ right now, she would get there on Sunday.

A、Would she leave     B、If she is left     C、Were she to leave     D、If she had left

8、The dictionary is very _______ and sells very well.

A、popular     B、considerate     C、careful     D、simple

9、The meeting was ______ to take place on Tuesday, but we've had to postpone it.

A、assumed     B、supposed     C、imagined     D、guessed

10、Having heard so much about Mr. Smith, they were_______ to meet and have a chat with him.

A、eager     B、desperate     C、urgent     D、earnest

11、_____ is known to everyone, the moon travels round the earth once every month.

A、It     B、As     C、That     D、What

12、It can be concluded that science education has reached a new ______ of development.

A、grade     B、class     C、standard     D、stage

13、She didn't come to the party last Sunday._____, she must have made the party more exciting.

A、If she came     B、Would she come     C、Had she come     D、Did she come

14、I will not _______ my children be treated in such a way.

A、permit     B、admit     C、allow     D、let

15、David ____ his company's success to the unity of all the staff and their persevering hard work.

A、promoted     B、contributed     C、devoted     D、attributed

16、John has _______ breaking the school window.

A、admitted     B、permitted     C、recognized     D、allowed

17、Nobody _______ that something was wrong at that time.

A、commented     B、committed     C、noticed     D、expressed

18、Getting a right job can be difficult ____the students_____ prepared to deal with the job interview.

A、if；be     B、unless；be     C、unless；are     D、if；are

19、Weather _________, the picnic will be held as scheduled.

A、permits     B、should permit     C、will permit     D、permitting

20、Nobody but a young woman _________the airplane crash.

A、endured     B、rejected     C、survived     D、lived

21、I wouldn't ____ of letting strangers look after my own house!

A、dream     B、suppose     C、fancy     D、imagine

22、She won the first prize in the speech contest, ______ surprised us.

A、which     B、it     C、that     D、who

23、It is useful to be able to predict the extent ___ which a price change will affect supply and demand.

A、from     B、with     C、to     D、for

24、The number of articles published on entertainment ______ amazing.

A、is     B、are     C、were     D、have been

25、Mary writes ____ than Jane, but she doesn't speak ____ Jane.

A、carefully; better than     B、more careful; well as     C、more carefully; as well as     D、more carefully; as better as

26、As we approached the work site, we saw the workers ____the new house.

A、building     B、build     C、built     D、to build

27、______ he gave that we should take more exercise in our spare time!

A、What a good advice     B、How a good advice     C、What good advice     D、How good advice

28、I wish you _________ go with me tomorrow.

A、will     B、would     C、shall     D、can

29、I like the material. It _________ very soft.

A、is feeling     B、felt     C、feels     D、is felt

30、I felt _______ to death because I could make nothing of the chairman's speech.

A、fatigued     B、tired     C、exhausted     D、bored

31、The police were given an order that the stolen documents must be recovered at all _____.

A、accounts     B、conditions     C、payments     D、costs

32、I'll have to push the car to the side of the road because we ____if we leave it here.

A、would be fined     B、will be fined     C、will being fined     D、will have been fined

33、When he was set free after twenty years in prison, he was amazed __ the changed world he found.

A、at     B、of     C、on     D、to

34、I can _______ some noise while I'm studying, but I can't stand loud noises.

A、come up with     B、catch up with     C、put up with     D、keep up with

35、If there were no examinations, we should have _____ at school.

A、the happiest time     B、a more happier time     
C、much happiest time     D、a much happier time

36、I'd like to take ________of this opportunity to thank you for your co-operation.

A、advantage     B、occasion     C、benefit     D、profit

37、—Alice, why didn’t you come to the party yesterday?

 —I _______, but I had an unexpected visitor.

A、had     B、would     C、was going to     D、did

38、You didn't let me drive. If we ________ in turn, you _________ so tired.

A、drove; didn't get             B、drove; wouldn't get     
C、were driving; wouldn't get     D、had driven; wouldn't have got

39、When I returned home, I found the window open and something ________.

A、to steal     B、stealing     C、stolen     D、steal     
40、It was difficult to guess what her _______ to the news would be.

A、reaction     B、impression     C、comment     D、opinion

41、We all agreed to her suggestion that we _________ to Beijing for sightseeing(观光).

A、will go     B、go     C、shall go     D、should have gone

42、What would have happened _________?

A、if Tom has walked farther     B、if Tom should walk farther     
C、if Tom had walked farther     D、if Tom walked farther

43、_____ the people have become the master of their own country _____ science can really serve the people.

A、It is only then；that     B、It was that；when     
C、It is only when；that     D、It was when；then

44、They ________ in Chicago, but now they live in New York.

A、used to living     B、were living     C、would live     D、used to live

45、The clock was _______ eleven when I went upstairs to bed.

A、striking     B、beating     C、ringing     D、sounding

46、________ an honest man, he never tells a lie.

A、Being     B、Be     C、Since     D、To be

47、Mary was seriously ill, so we arranged _________ by the best doctors.

A、for her to be examined     B、for her to examine     
C、her to be examined     D、her examined

48、His return from abroad will have great _______ on the political world.

A、impact     B、effect     C、influence     D、force

49、When she heard the bad news, she _____ completely.

A、broke away     B、broke up     C、broke down     D、broke out

50、We should serve the people heart and soul _____ we live.

A、as long as     B、if     C、unless     D、as soon as

答案：

01-10  CACBA  CCABA          11-20  BDCDD  ACCDC

21-30  AACAC  ACBCD          31-40  DBACD  ACDCA

41-50  BCCDA  AAACA
2019秋专升本计算机模拟卷
选择题（50题 共150分）
1、在Word中，要插入页眉和页脚，首先要切换到哪个视图方式下。

A、普通      B、页面      C、大纲      D、Web版式

2、在Excel中，对单元格“$D$2”的引用是__________

A、绝对引用      B、相对引用      C、一般引用      D、混合引用

3、在Excel工作表的某单元格内输入数字字符串456，正确的输入方式是______

A、456      B、’456      C、=456      D、"456"

4、完整的计算机硬件系统应包括主机和____________。

A、运算器和控制器      B、存储器      C、外部设备      D、中央处理器

5、退出Word的正确操作是______ 。

A、单击“文件”菜单中的“关闭”命令      B、单击文档窗口上的关闭窗口按钮×      
C、单击“文件”菜单中的“退出”命令      D、单击Word窗口的最小化按钮

6、6个二进制位最大能表示的十进制整数是_____

A、64      B、32      C、63      D、31

7、在幻灯片的切换中，不可以设置幻灯片切换的_______

A、换页方式      B、颜色      C、效果      D、声音

8、计算机能够自动工作，主要是因为采用了____________。

A、二进制数制      B、高速电子元件      C、存储程序原理      D、程序设计语言

9、在Word 编辑状态下，进行改变段落的缩进方式、调整左右边界等操作，最直观、快速的方法是利用______

A、菜单栏      B、工具栏      C、格式栏      D、标尺

10、多个窗口的切换可以通过______来实现

A、在任务栏上用鼠标单击右键      B、关闭当前活动窗口      
C、按Alt+Shift组合键             D、按Alt+Tab组合键

11、在Excel工作表中，_______操作可以删除工作表D列。

A、单击列号D，按delete键

B、单击列号D，选择"编辑"菜单下的"删除"

C、单击列号D，选择工具条上的"剪切"按钮

D、单击列号D，选择"编辑"菜单下的"清除" 下的"全部

12、世界上首次提出存储程序计算机体系结构的科学家是

A、莫奇莱      B、艾仑• 图灵      C、乔治•布乐      D、冯•诺依曼

13、对于新安装的Excel,一个新建的工作簿默认具有____张工作表

A、1      B、2      C、3      D、255

14、十进制数100转换成二进制数是______

A、1100100      B、1100101      C、1100110      D、1101000

15、世界上的第一台电子计算机使用的逻辑元件是____________。

A、晶体管      B、电子管      C、集成电路      D、以上都不是

16、Excel工作表最多可有_______列。

A、65535      B、256      C、255      D、128

17、计算机中所有信息的存储都采用______

A、二进制      B、八进制      C、十进制      D、十六进制

18、操作系统是______的接口

A、用户与软件      B、系统软件与应用软件      C、主机与外设      D、用户与计算机

19、在POWERPOINT中，特殊的字体和效果____________。

A、可以大量使用，用的越多，效果越好      B、与背景的颜色相同      
C、适当使用以达到最佳效果                D、只有在标题片中使用

20、下列字符中，ASCII码值最小的是______

A、a      B、B      C、x      D、Y

21、在Word中，要将文档中一部分选定的文字的中、英文字体，字形，字号，颜色等各项同时进行设置，应使用______

A、“格式”菜单下的“字体”命令      B、工具栏中的“字体”列表框选择字体      
C、“工具”菜单                    D、工具栏中的“字号”列表框选择字号

22、存储一个汉字的内码所需的字节数是______

A、1个      B、8个      C、4个      D、2个

23、在Excel工作表中，第11行第14列单元格地址可表示为______

A、M10      B、N10      C、M11      D、N11

24、Windows中可以设置、控制计算机硬件配置和修改桌面布局的应用程序是_____

A、Word      B、Excel      C、资源管理器      D、控制面板

25、关于Windows窗口的概念，以下叙述正确的是_____

A、屏幕上只能出现一个窗口，这就是活动窗口

B、屏幕上可以出现多个窗口，但只有一个是活动窗口

C、屏幕上可以出现多个窗口，但不止一个是活动窗口

D、屏幕上可以出现多个活动窗口

26、WINDOWS中“画图”文件默认的扩展名是____________。

A、CRD      B、TXT      C、WRI      D、BMP

27、WINDOWS系统是____________。

A、应用软件            B、单任务操作系统      
C、多任务操作系统      D、不可以添加多个用户

28、在Windows 的中文输入方式下，反复按_____键可在几种中文输入方式之间切换

A、Ctrl+Alt      B、Ctrl+Shift      C、Shift+Space      D、Ctrl+Space

29、在Word的编辑状态打开了一个文档，对文档作了修改，进行“关闭”文档操作后

A、文档被关闭，并自动保存修改后的内容

B、文档不能关闭，并提示出错

C、文档被关闭，修改后的内容不能保存

D、弹出对话框，并询问是否保存对文档的修改

30、在Word的编辑状态，当前正编辑一个新建文档“文档1”，当执行“文件”菜单中的“保存”命令后______

A、该“文档1”被存盘

B、弹出“另存为”对话框，供进一步操作

C、自动以“文档1”为名存盘

D、不能以“文档1”存盘

31、在Word的编辑状态中， 使插入点快速移动到当前行的开始的操作是_____

A、PgUp      B、Ctrl+HOME      C、HOME      D、Sheft+home

32、在windows中，“任务栏”上的内容为______

A、当前窗口的图标                                B、所有已关闭窗口或应用程序图标      
C、已启动并正在执行的程序名或窗口最小化后图标      D、已经打开的文件名

33、在WINDOWS中，文件是指____________的总称。

A、用文字编辑器编写的文章      B、应用程序      
C、设备                        D、文档、应用程序、设备

34、微型计算机的主频很大程度上决定了计算机的运行速度，它是指______

A、计算机的运行速度快慢      B、微处理器时钟工作频率      
C、基本指令操作次数          D、单位时间的存取数量

35、在Excel中，图表是__________。

A、用户通过“绘图”工具栏的工具绘制的特殊图形

B、由数据清单生成的用于形象表现数据的图形

C、由数据透视表派生的特殊表格

D、一种将表格与图形混排的对象

36、不属于输入设备的是

A、光笔      B、打印机      C、键盘      D、鼠标

37、CPU不能直接访问的存储器是______

A、RAM      B、ROM      C、内存储器      D、外存储器

38、在WORD的编辑状态，进行"替换"操作时，应当使用______中的命令

A、"工具"菜单中的命令      B、"视图"菜单中的命令      
C、"格式"菜单中的命令      D、"编辑"菜单中的命令

39、在Excel 中，关于工作表及为其建立的嵌入式图表的说法，正确的是______

A、删除工作表中的数据，图表中的数据系列不会删除

B、增加工作表中的数据，图表中的数据系列不会增加

C、修改工作表中的数据，图表中的数据系列不会修改

D、以上三项均不正确

40、在WINDOWS应用程序中，右击任意对象都会打开一个与之有关的____________。

A、下拉式菜单      B、快捷菜单      C、控制菜单      D、对话框

41、下列四种软件中属于应用软件的是______

A、BASIC解释程序      B、UCDOS系统      
C、财务管理系统        D、Pascal编译程序

42、在Excel工作表中，单元格C4中有公式"=A3+$C$5"，在第3行之前插入一行之后，单元格C5中的公式为______
A、=A3+$C$5      B、=A4+$C$5      C、=A4+$C$6      D、=A3+$C$6
43、计算机病毒是一种______。

A、破坏硬件的程序      B、输入设备      C、微生物“病毒体”      D、程序

44、下列操作中，不能在Excel工作表的选定单元格中输入公式的是________。

A、单击工具栏中的“插入函数”按钮

B、单击“插入”菜单中的“函数”命令

C、单击“编辑”菜单中的“对象...”命令

D、输入等号，在左端名字框的列表中选择所需函数

45、在"我的电脑"各级文件夹窗口中，如果需要选择多个不连续排列的文件，正确的操作是______

A、按Alt+单击要选定的文件对象

B、按Ctrl+单击要选定的文件对象

C、按Shift+单击要选定的文件对象

D、按Ctrl+双击要选定的文件对象

46、下列软件中,____一定是系统软件。

A、自编的一个C程序，功能是求解一个一元二次方程

B、C语言编译程序

C、一个财务软件

D、OFFICE 应用软件

47、在Word中，如果插入的表格其内外框线是虚线，要想将框线变成实线，用哪个命令实现。（假使光标在表格中）

A、“表格” 菜单的“虚线”

B、“格式” 菜单的“边框和底纹”

C、“表格” 菜单的“选中表格”

D、“格式”菜单的“制表位”

48、在WORD的编辑状态，利用下列哪个菜单中的命令可以选定单元格

A、“表格”菜单      B、“工具”菜单      C、“格式”菜单      D、“插入”菜单

49、PowerPoint的幻灯片浏览视图下，不能完成的操作是

A、调整个别幻灯片位置      B、删除个别幻灯片      
C、编辑个别幻灯片内容      D、复制个别幻灯片

50、PowerPoint中，在浏览视图下，按住CTRL并拖动某幻灯片，可以完成________操作。

A、移动幻灯片      B、复制幻灯片      C、删除幻灯片      D、选定幻灯片

答案：

01-10  BABCC  CBCDD          11-20  BDCAB  BADCB

21-30  ADDDB  DCBDB          31-40  CCDBB  BDDDB

41-50  CDDCB  BBACB
2019秋专升本高等数学模拟卷
选择题（25题 共150分）
1、 设
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4、 下列级数的收敛的是（       ）。
A、[image: image18.png]
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     C、[image: image20.png]


     D、[image: image21.png]
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 的秩为（       ）。
A、[image: image37.png]
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9、 设函数 [image: image41.png]f(x)



的定义域为[0，1]，则 [image: image42.png]fx+a)



的定义域为（       ）。
A、[image: image43.png][a, a+1]
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     D、[image: image46.png][-a.1-a]




10、 级数[image: image47.png]


 的收敛半径为（       ）。
A、[image: image48.png]
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（       ）。
A、1     B、[image: image53.png]
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12、 设 A是四阶方阵， [image: image56.png]l4]=4



，则[image: image57.png]|- 24]=



（       ）。
A、4     B、64     C、-64     D、－4

13、 [image: image58.png]](cosx— sin x)dx =



（       ）。
A、[image: image59.png]sin x+cosx+C



     B、[image: image60.png]—sin x—cosx+C
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14、 曲线[image: image63.png]


 在 [image: image64.png]


处的切线方程为（       ）。
A、[image: image65.png]y=3x+2
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15、 [image: image69.png]z="(x+y"-2y)



的极值点为（       ）。
A、(0,0)     B、[image: image70.png]


     C、[image: image71.png]


     D、没有极值点

16、 [image: image72.png]


（       ）。
A、4     B、0     C、[image: image73.png]


     D、12

17、[image: image74.png]x-sinx
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A、[image: image75.png]
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18、 下列函数是偶函数的是（       ）。
A、[image: image78.png]
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       B、[image: image80.png]
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C、[image: image82.png]




 INCLUDEPICTURE "http://202.120.29.54:8088/attached/image/examFiles/gdsx111012/image069.gif" \* MERGEFORMATINET [image: image83.png]x% +sin x



     D、[image: image84.png]




 INCLUDEPICTURE "http://202.120.29.54:8088/attached/image/examFiles/gdsx111012/image070.gif" \* MERGEFORMATINET [image: image85.png]In{ x+~/x2 +1)




19、 下列各组两个函数相等的是（       ）。
A、[image: image86.png]


           B、[image: image87.png]Sx)=lgx®



,[image: image88.png]g(x)=3gx



     
C、[image: image89.png]Fx)=sin’x



,[image: image90.png]


     D、[image: image91.png]f®=



,[image: image92.png]g(x)=x+1




20、 幂级数[image: image93.png]


 的收敛区间（       ）。
A、[image: image94.png]-1 3



     B、[image: image95.png](-1, 3]



     C、[image: image96.png]-1 3



     D、[image: image97.png]



21、 A 是五阶方阵，[image: image98.png]4= -2



 ，则 [image: image99.png][ea?|



＝（       ）。
A、-64     B、64     C、-1/64     D、1/64

22、 已知[image: image100.png]sin x
lim
=0 £(37)




 ，则 [image: image101.png]fim @8

i~



＝（       ）。
A、[image: image102.png]


     B、[image: image103.png]


     C、[image: image104.png]


     D、[image: image105.png]



23、 [image: image106.png]sin ® xdx =




（       ）。
A、[image: image107.png]


     B、[image: image108.png]15



     C、[image: image109.png]15



     D、[image: image110.png]



24、 设 A， B是四阶方阵，[image: image111.png]


 ，[image: image112.png]


 ，则[image: image113.png]|458|=



（       ）。
A、－8     B、8     C、32     D、－4

25、 [image: image114.png]2
tiy (1437)° =



（       ）。
A、1     B、[image: image115.png]


     C、[image: image116.png]


     D、[image: image117.png]



答案：

01-10  ABABD  DBBDD       11-20  CBAAC  DBABA

21-25  CACBD  
